	
	TOPIC 1
	Macroeconomic performance



WORKBOOK ANSWERS

OCR A2 Economics Unit F585
The Global Economy
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Topic 1
Macroeconomic performance 
The recent macroeconomic performance of the UK

1
Economic growth in the UK has been averaging about 2.2%, but since the credit crunch of 2007–08 there have been two recessions and nearly a third. Most recently, growth has been about 0.6%.
The inflation rate has generally been above the target figure of 2% in recent years, reaching as high as 5.1%. Most recently, inflation (as measured by the consumer price index) has been 2.8%.
The unemployment rate has generally been higher than in the recent past since the credit crunch of 2007–08, although there has been an increase in the labour force to over 29 million. Most recently, the unemployment rate has been 7.8% as measured by the Labour Force Survey.
Finally, the balance of payments on current account has been in deficit, although the invisible balance has generally been in surplus. Most recently, the current account balance for the year has been in deficit by about US$75 billion.
Economic growth
2
Short-run economic growth refers to the growth of real GDP as a result of utilising all of the available resources in an economy. It can be represented by a movement from within a production possibility curve or frontier to a position on the curve or frontier. At any point along this curve or frontier, there will be no unemployed resources.
Long-run economic growth refers to the growth of output as a result of shifting the production possibility curve or frontier of an economy to the right. This can come about as a result of an increase in the quantity and/or quality of resources available for production. In this case, there is an increase in the productive potential or productive capacity of the economy. In the long run, it becomes possible to benefit from increases in capital investment, improvements in human capital and changes in technology.
3
The economic, trade or business cycle refers to the fluctuations in output and employment over a period of time. During this time, economies will go through periods of boom, recession, slump and recovery. The long-run trend, however, will tend to increase.
4
An output gap refers to the difference between actual output and the potential output of an economy if it was working at full capacity.
It is possible to look at an economy’s real GDP over time and compare it with the long-run trend rate of growth to see if there is a divergence. If the growth of real GDP is above the underlying trend, the output gap is positive. If it is below the underlying trend, the output gap is negative.
If there is a negative output gap, it means that the level of expenditure is below the capacity or potential of the economy to produce. This will lead to an increase in unemployment. This negative output gap is known as a deflationary gap.
On the other hand, if there is a positive output gap, this will give rise to an inflationary gap.
Causes of economic growth

5
The national income multiplier is defined as the amount by which an increase in injections into the circular flow of national income will increase national income in an economy.
Its size is determined by the extent to which the increase in incomes, resulting from the injections, is reduced by the leakages or withdrawals from the circular flow. These leakages are savings, taxation and imports.
The size of the multiplier can be calculated by the following formula: 1/(MPS + MPT + MPM)
6
The multiplier shows the relationship between an injection into the circular flow of national income and the eventual increase in national income brought about by this injection.
The accelerator shows the relationship between investment and the rate of change of output. Investment is determined not by the level of output, but by the rate of change of output.
The accelerator and the multiplier interact in a cycle. When there is an increase in investment in the upswing of the business cycle, this will create a multiplier effect. However, when there is a downswing in the business cycle, there will be a downward multiplier effect.
Although they interact, the two are distinct. The accelerator refers to the induced effect on investment of a change in national income, whereas the multiplier refers to the effect of an autonomous change in investment on national income.
Exam-style question
7
Student answer:


A change in aggregate demand can bring about economic growth in the short run. If there are unused resources, an increase in AD can cause a movement from within a country’s production possibility curve or frontier to a position on the curve or frontier. 
The student clearly recognises how short-run growth can be demonstrated by a movement to a position on a production possibility curve, but it would have been helpful if a production possibility curve had been included in the answer to support the evaluation. 

A change in aggregate supply can also lead to an increase in real GDP.
The answer in this section needs to be developed more fully.

The interaction of the multiplier and the accelerator can also contribute to growth. Although they are distinct, they can work together to bring about an increase in growth.
The multiplier and the accelerator can work together to bring about growth, but the student does not explain, let alone evaluate, how this happens.

The business cycle can also lead to growth, if a slump is followed by a period of recovery.
It is appropriate to refer to the business cycle, but the treatment of it is very limited and superficial. The student needed to develop this section more fully. Again, it would have been helpful if a diagram of the business cycle had been included to aid the answer.

In the long run, growth can come about as a result of changes in long-run aggregate supply. For example, this could be because of an increase in the quantity and/or quality of the labour force. It could also come about as a result of an increase in the capital stock. This would lead to a shift of the production possibility curve to the right, indicating an increase in the productive capacity or potential of the economy.
This section could have been developed more fully in terms of the potential improvement in human capital, bringing about an increase in productivity. The reference to expenditure on capital equipment could also have been developed more fully. There is a useful reference to a shift of the production possibility curve to the right, but again it would have been useful to include a diagram.


In conclusion, economic growth in both the short run and the long run can be caused by a number of different factors.
The conclusion does not really add anything. It would have better if there had been an attempt to make a judgement as to which factors were more important than others in causing growth.
Consequences of economic growth

8
Economic growth will have a number of consequences for an economy. If there had been a situation of inflation, where aggregate demand was in excess of aggregate supply, if the amount supplied increases, this will reduce inflationary pressures in the economy. Rising capacity in an economy, as aggregate supply increases, means that output can increase without inflationary consequences.
Economic growth, measured through a rise in real GDP in an economy over a period of time, will lead to an increase in the demand for workers, reducing the rate of unemployment in an economy. The effect of this will depend on the degree to which the increase in output has come about through the increase in the number of workers or an increase in the quality of the existing workers due to an increase in productivity. This could have resulted from an increase in the capital:output ratio. 
The balance of payments could also be affected by economic growth. If some of the increase in output is exported, this will have a favourable effect on the current account of the balance of payments. If more is available to be consumed within the domestic economy, this may reduce the demand for imports, again leading to an improvement in the current account of the balance of payments. 
A government’s fiscal position will also be affected by economic growth. If there is a fall in the level of unemployment, this will reduce the amount of money that needs to be paid out to the unemployed in the form of transfer payments. Also, if more people are working, and receiving an income, this is likely to increase a government’s tax receipts, from both direct and indirect taxation.
In conclusion, it is clear that there are a number of possible positive consequences of economic growth for an economy, although it would be necessary to take into account the possible costs of growth, such as effects on the environment.
Policy issues

9
Fiscal policy could be used to affect the international competitiveness of an economy. A tariff could be imposed on certain imports to protect a domestic industry, giving it time to become more competitive in international markets. Also, a subsidy could be provided to the domestic industry to enable firms to cover some of the production, again making the firms more competitive in international markets. There is, however, the potential problem that an industry might hide behind this protectionist wall and efficiency may not actually improve.

Monetary policy could also be used to improve the international competitiveness of an economy. For example, a government could reduce the interest rate. This would make borrowing cheaper and firms might borrow funds to improve the efficiency of production. The government could also increase the supply of money in an economy, providing funds to exporting firms. This could also lead to an increase in efficiency and in the international competitiveness of an industry.
Supply-side policies could also be used, such as expenditure on training and education. This would increase the quality of human capital, leading to an increase in the productivity of the workers. This should make firms more competitive in international markets.
10
Different macroeconomic policies can be used by a government to achieve certain aims and objectives, but there is not complete freedom of action in this respect.
One limitation on a government, in terms of fiscal policy, is that a government should aim at achieving a balanced budget over a number of years. At the moment, the UK government is trying to reduce the size of the fiscal deficit and so has introduced a number of austerity measures. This would act as a constraint on any government that wanted to increase public spending to any large extent.
Another restraint is in relation to the rate of inflation. The UK government has as its current inflation target a rate of 2% p.a., although the inflation rate has been between 2.5% and 5.5% in recent years. This acts as another constraint on government policy as a government will need to take into account the possible inflationary consequences of any increase in public spending.
There is also a constraint in the form of trade-offs. A government might aim to stimulate the economy as part of its objective of reducing the rate of unemployment, but if the level of demand is greater than the ability of the economy to satisfy this demand, the consequence can be an increase in the rate of inflation.

Topic 2

Trade and integration
Absolute and comparative advantage

1
The theory of absolute advantage is based on the idea that one country should concentrate on the production of those products in which fewer resources are used in the production process. Such a country would have an absolute cost advantage over another country in the production of this product because the production would involve a lower unit cost.
The theory of comparative or relative advantage, however, is based on the idea that it is not necessary for absolute advantage to occur in order for there to be gains from trade. Trade can still be beneficial as long as there are different opportunity costs of production. If one country has a lower opportunity cost in the production of one product, it should still produce that product even if it does not have an absolute advantage in the production of the product. A country may not be the best at producing a product, but it should still specialise in the production of that product if it is relatively good at producing it, in comparison to other goods. It is, therefore, the relative, rather than the absolute, efficiency that is important.
Specialisation and gains from trade

2
Specialisation, in the context of international trade, refers to a situation where economies concentrate on the production of those products in which they have an advantage. The result of this is that the potential world output can increase to a higher level than would otherwise be the case. 
3
The main gain from trade is that the amount of production can be increased. Countries can concentrate on the production of those goods and services in which they have a relative advantage, i.e. a lower opportunity cost than another country. This enables countries to consume outside of their production possibility frontiers. The increase in world output leads to an increase in standards of living throughout the world, giving consumers in different countries a greater variety of products to choose from.
Terms of trade

4
The terms of trade refer to the relative prices of exports into a country and imports from a country. An index of average export prices and an index of average import prices is constructed and the terms of trade are calculated by dividing the index of export prices by the index of import prices and multiplying by 100.
5
Changes in the terms of trade can have a significant impact on international trade. If export prices increase compared to import prices, the terms of trade will improve, i.e. the index number will increase. This is called a ‘favourable’ movement in the terms of trade because it becomes possible to buy more imports from the money earned from the exports.
The language, however, can be confusing because this favourable movement in the terms of trade may not be advantageous to the balance of trade. If export prices have risen, relative to import prices, this could mean that the demand for exports falls while the demand for imports increases. The degree to which this happens will be determined by the price elasticity of demand for exports and imports.
If export prices decrease compared to import prices, the terms of trade will deteriorate, i.e. the index number will decrease. This is called an ‘unfavourable’ movement in the terms of trade because now fewer imports can be bought from the money earned from the exports.
This unfavourable movement in the terms of trade, however, can be beneficial for the balance of trade. If export prices are less, and import prices more, this could lead to an improvement in the balance of trade, assuming that the demand for both exports and imports is price elastic.
In conclusion, the term ‘favourable’ or ‘unfavourable’ simply refers to whether the terms of trade index figure is rising or falling. An unfavourable movement in the terms of trade may actually have a favourable effect on the current account of the balance of payments, depending on the price elasticity of demand for exports and imports.
The pattern of global trade

6
In the past, the UK traded largely both with Europe and the Commonwealth. Since the UK joined the European Union in 1973, trade with the Commonwealth has declined as a proportion of total trade and trade with Europe, especially the countries that are members of the European Union, has increased proportionately. Trade with North America remains important. The EU now represents 59% of UK trade, trade with North America constitutes 16% of UK trade and trade with the rest of the world represents 13%.
Alternative exchange rate systems

7
Many exchange rates in the world today are determined by the interaction of demand for, and supply of, a currency. In essence, an exchange rate is a price and like any other price in a market, it is determined by market forces. In this case, the market is the foreign exchange market.
An alternative approach is a system in which a government decides on the value of an exchange rate, which then becomes fixed. Instead of its value floating in response to changes in market conditions, a government will intervene to maintain this rate, i.e. it will buy or sell currency itself to maintain this particular value.
There is a third approach which is known as a managed float system. This is where an exchange rate is allowed to float up or down according to changes in market conditions, but only within certain parameters, i.e. a government will allow it to float within minimum and maximum values and will intervene to ensure that the value does not go outside those parameters.
Exam-style question
8
Student answer:


A fixed exchange rate system involves regular government intervention in order to maintain the exchange rate. This means that the central bank of a country needs to keep foreign reserves because it may be necessary at any time to intervene in the foreign exchange market. Also, this involves the concept of opportunity cost, i.e. the next best alternative on which the money could have been spent has to be forgone.
This is an important point about the need to hold reserves of currency (or perhaps gold) in order to be able to maintain the value of an exchange rate. This will be less of a problem if a government is sometimes adding to, and sometimes spending, foreign currency reserves, but it is a significant problem if it is almost always the case that reserves are being used up to maintain a currency’s value. The student could have brought into the discussion some examples of alternatives, such as public spending on education or healthcare.

A floating exchange rate, therefore, is often preferred because it is not necessary to maintain reserves. A government will simply accept whatever value is determined in the market. The exchange rate will adjust automatically, without any need for intervention, so that demand for, and supply of, the currency are equal. This has the advantage that deficits or surpluses in the balance of payments can be automatically eliminated.
This aspect of automatic adjustment in a market is important to stress, but the final sentence about deficits or surpluses in the balance of payments needed to be discussed more fully.

A government will have much more freedom to pursue particular policies if there is not a requirement to maintain a particular exchange rate. For example, decisions on interest rates can be taken without having to worry about the possible effects of such a decision on the exchange rate.
This is an important advantage of a floating exchange rate. Maintenance of a fixed rate can be very restrictive on the freedom of action of a government to implement particular policies.

A floating exchange rate also avoids the problem of speculators coming in to speculate about the value of an exchange rate. This can be a big problem with fixed exchange rates.
Speculation can be a particular problem with fixed exchange rates, so this is a valid point to make.

Of course, it is possible that a government might decide to combine both systems in a managed float but, on the whole, a floating exchange rate is seen to have significant advantages over a fixed exchange rate.
It might have been useful if the student had developed the conclusion more fully by stressing one or two particular advantages of a floating exchange rate system.
Exchange rate fluctuations

9
In a floating exchange rate system, the exchange rate of a currency is determined by changes in demand for, and supply of, a currency.
The demand for UK goods and services will increase the demand for pounds sterling, whereas the demand for imported goods, or for foreign holidays, will increase the supply of pounds sterling.
The desire to save in UK financial institutions will increase the demand for pounds sterling, whereas the desire to save in foreign financial institutions will increase the supply of pounds sterling.
If the interest rate in the UK increases more than in other countries, this will increase the demand for pounds sterling. If the UK interest rate rises less than in other countries, there will be an increase in the supply of pounds sterling.
If there is speculation that the value of the currency is likely to rise, the demand for pounds sterling will rise. If there is speculation that the value of the currency is likely to fall, the supply of pounds sterling is likely to increase.
10
Fluctuations in the exchange rate of a currency can have a number of consequences for an economy. The effect will depend to a large extent on whether there has been a fall in the value, known as a depreciation (in a floating exchange rate system) or a devaluation (in a fixed exchange rate system), or a rise in the value, known as an appreciation (in a floating exchange rate system) or a revaluation (in a fixed exchange rate system).
In the case of a depreciation, this will make exports cheaper and imports dearer. If the price elasticity of demand for exports and imports is elastic, this should be beneficial in terms of the balance of payments.
The problem, however, is that changes in the exchange rate are not always even. There can often be fluctuations as the external value of a currency changes all the time. These fluctuations make long-term planning difficult and can create an element of instability in an economy.
Purchasing power parity

11
The concept of purchasing power parity makes it possible to compare the value of currencies in terms of what money can buy in different countries. The idea is that through an adjustment to take into account the prices of products in different countries, it is possible to identify a situation where a certain sum of money, in whatever currency, can buy exactly the same basket of goods and services in another country, whatever the currency. In this way, it is possible to take into account different price levels and rates of inflation in various countries by giving an accurate comparison of purchasing power in different countries.
Causes and consequences of balance of payments problems

12
The visible balance of the current account of the balance of payments in the UK often experiences a deficit, although this is balanced, to some extent, by a surplus in the invisible account. The other aspects of the current account, income flow and current transfers, can also be in deficit. 
The capital account will experience problems if there are net transfers out of the country, such as in relation to foreign aid payments.
The financial account shows the capital inflow and capital outflow, in terms of both capital investment and portfolio investment. If there is a net outflow, this will cause problems for the balance of payments.
13
A persistent balance of payments deficit can have negative consequences for an economy. A persistent and sustained deficit essentially means that a country is spending beyond its means, i.e. more money is leaving a country than is coming into it. 
This could mean that a country’s products are not as competitive as they could be, in that fewer people are buying a country’s exports compared to the number of goods that are imported into a country.
This is particularly a problem in a fixed exchange rate system. This could indicate that the value of the exchange rate has been fixed at the wrong level and perhaps ought to be changed, i.e. devalued. This is less of a problem in a floating exchange rate system because in a floating system, the external value of the currency falls, or depreciates, making exports more competitive and imports less competitive.
It needs to be remembered that any deficit caused by trade in visibles and invisibles could be offset by surpluses in the capital account or financial account.
Policies to correct imbalances

14
If the imbalance has been caused by a deficit in the visible balance, a country could seek to encourage exports and discourage imports. Exports could be encouraged by providing a subsidy to producers which would bring down the cost of production. If this happened, prices could be kept lower than would otherwise have been the case, encouraging competitiveness of the exports. The actual effect on the balance of payments would depend on the price elasticity of demand for the exports.
Imports could be discouraged by a variety of protectionist measures, such as tariffs and quotas. As with the subsidies, the effect of the imposition of a tariff would depend on the price elasticity of demand for the imports. A quota might, therefore, have more effect than a tariff if the demand for imports is price elastic.
If the balance has been caused by a deficit in the financial account, a country might decide to attract money into itself by raising interest rates, especially if this meant that interest rates were generally higher in one country than another. Again, the actual effect of this would depend on the interest elasticity of demand. Inward investment could also be encouraged by offering attractive deals to multinational companies to invest in a country. This foreign direct investment might be influenced by such factors as favourable tax concessions or grants to assist in the building of a factory.
There are, therefore, a range of policies that could be used to correct an imbalance in the balance of payments. Decisions about which would be the best policies would depend on the source of the imbalance, given that the balance of payments is quite extensive and includes a range of transactions between countries.
15
The key difference between a tariff and a quota is that a tariff involves the imposition of a tax or duty on imported products whereas a quota involves a restriction or limitation on trade between countries.
The success of a tariff depends on the extent of the price elasticity of demand for the imported product. If demand is price elastic, then the tariff is more likely to have the desired effect of reducing the demand for imports. If demand is price inelastic, the tariff will be far less successful in reducing the demand for imports. Whether the demand will be price elastic or price inelastic will depend on whether there are similar domestically produced products that people can buy and the quality of such products.
Quotas can operate in a number of different ways. They could involve a limitation in terms of the import of a certain number of products or the value of the imported products. It is also possible that they could involve a limitation in terms of the market share of the imported products. In this sense, they can be more effective than a tariff, but there is always the possibility that if a quota is imposed on products from a particular country, that country may decide to retaliate and impose quotas of its own. It should also be pointed out that unlike tariffs, quotas do not raise money for a government.
16
Protectionism refers to the process of protecting the domestic producers in an economy from the full extent of international competition. It takes place through a number of different methods, including tariffs, quotas and subsidies.
The case for protectionism is based on protecting those firms and industries that are particularly vulnerable to competition from firms in other countries. For example, there may be infant or sunrise industries that are just starting and which need protection, at least until they are able to compete effectively with foreign producers.
Declining or sunset industries may also require protection to enable them to decline gradually, giving time for the workers to find alternative employment. Without such protection, the unemployment rate would be likely to rise substantially.
Protectionism may also be defended as a way of combating dumping. This is where goods are traded at a price that is actually below the cost of production. Without protectionism, domestic firms would not be able to withstand such competition.
On the other hand, protectionism goes against the theory of comparative advantage. This theory stresses that gains from trade can be made as long as countries specialise in the production of those goods and services in which they have a lower opportunity cost than other countries. Without free trade, consumers would have a restricted choice and lower standards of living.
In conclusion, it is clear that while protectionism can be defended in certain circumstances, for example as an anti-dumping measure, and possibly as a temporary measure, the case for free trade is much stronger given the gains from trade that can be made when countries specialise in those areas of production with the lower opportunity cost.
Stages of economic integration
17
A free-trade area refers to a group of countries which encourage free trade within the area but retain separate trade barriers against other countries. One example is NAFTA, the North American Free Trade Agreement, which consists of the USA, Canada and Mexico.
A customs union refers to a group of countries that encourage free trade within the union and that have a common external tariff with all other countries. One example is the European Union which has 28 member countries.
A single market refers to a group of countries which agree to create a single market. The effect of this is that goods, services, people and capital can move from one country to another without hindrance. There has been movement towards a single market in the European Union, but it is still incomplete.
An economic union is where different economies come together to agree on a number of common policies, rules and regulations. The European Union is an example of such a union.
A monetary union refers to the harmonisation of a number of economic policies and, in particular, the establishment of a common currency. Seventeen of the 28 members of the European Union have adopted the euro as a single currency and a single interest rate operates across all of these countries, decided by the European Central Bank in Frankfurt.
18
The European Union can trace its origins to the creation of the European Economic Community in 1958. It is an example of a customs union as there is a common external tariff with all other countries. It is in the process of creating a single market and much progress has been made on this so far, even if it remains incomplete. It is also an example of an economic union, with many rules, regulations and directives decided in Brussels which affect all of the member countries. It is also, to some extent, an example of a monetary union, certainly in relation to the 17 countries which have adopted the euro as a single currency. Within this area, a single interest rate operates, decided by the European Central Bank which is located in Frankfurt.
Impact of economic integration

19
Economic integration can have a positive effect on the countries involved. In particular, trade creation can come about as a result of the opportunities presented by the greater degree of free trade. As there are fewer trade barriers, new markets can open up, leading to greater production and an increase in standards of living.
Although trade creation is an important element in any form of economic integration, there is also likely to be some form of trade diversion. Usually, there will be more trade between member countries and less trade with countries outside the trading bloc. There is, therefore, often a clear shift in trading patterns. This was seen once the UK became a member of the European Union, with trade shifting away from the Commonwealth towards trade with the member countries of the European Union. It is noticeable that a similar pattern is emerging in relation to the three NAFTA countries — the USA, Mexico and Canada.
In the long run, dynamic effects can result from the increasing interdependence of the countries that are members of the trading bloc. The harmonisation of regulations has played a key role in moving towards a single market in a large number of goods and services. The greater the degree of interdependence and harmonisation, the greater the potential for these dynamic effects to be demonstrated.
Topic 3

Development and sustainability
Meaning and measurement of development
1
Economic growth specifically refers to an increase in output in an economy. It is usually measured through changes in gross domestic product (GDP) and, in particular, through changes in real GDP, i.e. after taking the effects of inflation into account.
Development is a broader concept and so is often regarded as being multidimensional. There may be economic growth in a country, but at the same time poverty could be increasing and there could be increasing inequality in the distribution of income and wealth. Development includes these wider aspects. This is why economic growth might be seen as a necessary condition for economic development, but it is not a sufficient condition.
2
Although growth and development are not the same, growth will lead to the greater possibility of development taking place, particularly in a material sense.
Development goes beyond material progress, however, and according to Michael Todaro extends to include such concepts as sustenance, self-esteem and freedom.
Development also usually includes the idea of sustainable development, i.e. taking into account the needs of future generations, but a very high rate of economic growth in a country may not be sustainable.
Exam-style question
3
Student answer:


The traditional approach to measuring development has been through GDP per capita, i.e. take the GDP of a country and divide it by the population of the country to give a per head or per capita figure. An even better approach has been to take into account the effects of inflation by using real GDP per capita.
This is a useful start. It brings in both GDP per capita and real GDP per capita.

However, given that development is a wider concept than growth, other approaches to measuring development have been introduced. One of these is the human development index (HDI). This is a wider concept than GDP per capita. It has included GDP per capita within it, although since 2010 GDP per capita has been replaced by gross national income (GNI) per capita in $US at purchasing power parity.
The contrast between growth and development could have been developed more fully. It is good, however, to demonstrate knowledge of recent changes in the construction of the HDI.

In addition to GNI per capita, it also includes two other elements. One is life expectancy at birth. The other is years of education; this is made up of two elements — mean years of schooling and expected years of schooling.
There could have been a more detailed consideration of these two aspects.

HDI is, therefore, considered to be a better indicator of development than GDP per capita because it also includes life expectancy and years of schooling.
The conclusion could have been developed more fully, discussing in greater depth the advantage of HDI over GDP.
4
There are a number of common characteristics of economies as they go through different stages of development, a process identified by W. W. Rostow. He argued that countries experienced a series of stages in the process of development. These were the traditional society, the transitional stage, the take-off, the drive to maturity and the stage of high mass consumption.
A common feature of economies going through these stages has been the declining proportion of the economy concerned with the primary sector. There has also initially been an increase in the relative importance of the secondary sector, which has then been followed by a decrease in its significance. Finally, there has been a general upward trend in the relative importance of the tertiary sector. Of course, there is still diversity in the proportions of the three sectors in different economies.
A second common characteristic has been a move from labour-intensive production to capital-intensive production, but again this will vary from one country to another, often depending on the size of the population. For example, Singapore, with a population of about 5 million, has tended to concentrate on capital-intensive production, whereas China, with a population of about 1.4 billion, has tended to concentrate on labour-intensive production.
Another common feature has been the move away from the countryside to living and working in urban communities. This rural–urban migration has been a common feature of development, although again there has been quite a lot of diversity between countries in terms of the rural/urban ratio of working and residence.
There have, therefore, been a number of common characteristics in the development process but, at the same time, there are still diverse characteristics of countries today.
Policies to promote economic development
5
In some cases, market forces have been used to promote economic development. The market has been seen as significant in encouraging entrepreneurs to take risks in the search for profit. Market forces have been seen as the way to encourage greater efficiency in production as a result of competition between producers.
Other economists, however, have argued that there have been certain constraints on development, especially as a result of difficulties in raising the necessary finance. There have also been problems in both the quantity and quality of the infrastructure available.
It is for such reasons that another approach has been to put the focus on the state to give a lead in the process of economic development. This has been both in the form of state-owned, nationalised, industries and in terms of the aid and assistance that can be provided by government. This has especially been the case in terms of financial start-up schemes.
Another approach to economic development has been to encourage involvement in international trade. In some countries, there has tended to be a focus on protectionism to protect domestic producers from the threat of international competition. An alternative approach, however, has been to reduce the level of protectionism and encourage firms to compete with those in other countries, leading to a greater level of efficiency.
There have, therefore, been a variety of policies used to promote economic development, each with various advantages and disadvantages.
The constraints on development
6
There are a number of different constraints on the economic development of a country.
First, each country is endowed with different economic resources or factors of production. According to the theory of comparative advantage, countries should specialise in those areas of production where they possess the best factor endowments, but it is clear that some countries are better off than others in terms of the quantity and/or quality of economic resources available to them.
A second possible constraint is the quality of the infrastructure that is in place in different countries to support economic activity. It is clear that some countries have limited means to financially support the development of appropriate infrastructure.
The quantity and/or quality of institutions can also vary. For example, countries vary a great deal in terms of their education and healthcare provision. This can affect the quality of human capital and, therefore, the level of productivity that it is possible for workers to achieve.
The sophistication of the financial services sector can also vary significantly. In some countries, there is only a limited financial sector and so it may be difficult to develop a savings culture. If the level of savings is low, there will not be the funds available to finance the improvement in a country’s infrastructure that is needed.
Finally, there are possible external restraints on development. This may because of multinational companies locating in a country or because a country has to pay interest on money borrowed from other countries or from international institutions, such as the World Bank.
There are, therefore, a number of constraints on development in many countries.
The meaning of sustainability

7
The idea of sustainability stresses the fact that in meeting the needs of the present generation, the needs of future generations should not be compromised.
Sustainable economic development refers to the fact that many resources are finite and that in the process of development, there can be a depletion of these resources. The term, therefore, refers to the idea that the development process needs to take the environment fully into account. Sustainable development stresses that there should not be a reliance on the exploitation of resources that cannot be replaced. For example, in terms of the use of forests, attention needs to be given to the importance of replanting.
8
Economic growth can have a number of impacts, especially in relation to the assessment of the sustainability of that growth.
The social impact of growth can be seen in terms of providing for the education and health of people. It is important to develop the human capital of a country, but this education and healthcare has to be seen in the context of what is going to be needed by future generations. For example, in education the appropriate courses and qualifications need to be offered.
The environmental impact of growth is another important consideration. Growth can lead to pollution and deforestation and it is vitally important that the needs of future generations are fully taken into account.
Resource depletion is a serious issue. A resource such as oil is finite and so growth today needs to take into account the fact that future generations will need access to appropriate resources themselves. This is why growth needs to balance both the exploitation and the conservation of scarce resources.
Finally, it is necessary to consider the demographic impact of growth. An important demographic issue in many countries is an ageing population. In virtually all countries, people are living longer and this has implications for how long people should go on working before retiring.
There are, therefore, a number of different impacts of growth in economies at all stages of development.
The measurement of sustainability
9
GDP per capita, especially real GDP per capita, has traditionally been used to measure the standard of living in a country. It may not, however, be very effective in measuring the sustainability of economic development. GDP measures the value of what has been produced in an economy over a period of time. It is quantitative in its approach, but it is not qualitative. For example, a large proportion of the output could be in the form of military weapons. Also, the output could have created environmental problems, such as pollution.
The ISEW was designed to be a more accurate indicator of sustainable economic development, taking into account such criteria as income distribution and external costs, such as pollution. It does take into account what might be regarded as the unsustainable costs of growth. It was recognised, however, that although an improvement on GDP, the ISEW did not go far enough and so it has been developed into the genuine progress indicator (GPI). Social and environmental issues are also taken into account and the GPI is seen as a good way to measure the ecological sustainability of an economy.
Policies and agreements to promote sustainability
10
There have been a number of policies and agreements over the years to promote sustainability. There have also been a number of bodies set up to monitor it, such as the World Commission on Environment and Development in 1987.
The World Trade Organization has been active in relation to sustainable development and its Committee on Trade and Environment has been proactive in this. This has been most noticeable in the Doha Round of discussions. 
The European Union is very proactive in relation to sustainability and the Treaty on the European Union stresses the importance of sustainability. It regularly monitors the effects of its trade agreements through Sustainability Impact Assessments. Its sustainable development strategy makes it clear that it recognises the importance of sustainable development.
The International Labour Organization is another body that has stressed the importance of sustainable development.
Within the UK, Scottish Enterprise has developed a Sustainable Procurement Policy, emphasising the importance of its low carbon policy.
The reality, however, is that although such agreements and policies are good in establishing a commitment to sustainability, the difficulty is in giving such bodies ‘teeth’ in terms of effectively monitoring what goes on in the world.
Topic 4

The economics of globalisation
The characteristics and consequences of globalisation

1
Globalisation has a number of different characteristics. First, there is increasingly a world market, both in terms of goods and services and in capital. Second, there is more coordination between governments in terms of the macroeconomic policies that are followed. Third, there has been a growth in world trade, improving the standard of living of many people. Fourth, there has been increasing scope for multinational companies to extend their operations all over the world. Fifth, the development of technology has contributed significantly to the growth of the idea of a world market, especially in terms of the use of the internet.
2
Globalisation is promoted by a number of factors. An increasingly world market has developed due to the need of companies to cut costs and to produce more. Multinational firms have grown greatly in recent years, partly to take advantage of different factor endowments in various countries, such as the different costs of labour, and partly to produce more. The larger market leads to larger profits. 
It is not only in terms of an increasingly world market that globalisation is taking place. It is also the result of movements in capital. The financial system has become more integrated and capital has become increasingly mobile. For example, many companies now have their shares quoted on a number of stock exchanges around the world.
Advances in transportation and communication have also contributed towards the greater interdependence of countries in terms of their economic activities. 
The International Monetary Fund has identified four essential aspects of globalisation. These are: trade and transactions; capital and investment movements; the migration of people; and the dissemination of knowledge.
International financial flows
3
There are a number of different types of international financial flows. Private flows refer to money that is transferred by individuals in relation to the buying and selling of shares, property or other financial assets. They can also refer to the money moving between bank accounts. The influences on this ‘portfolio investment’ will include different interest rates and the state of different economies. Such flows would affect the financial account of a country’s balance of payments.
Official flows usually refer to government financial flows, such as transfers within an economic union, such as the European Union, or transfers in the form of foreign aid.
Of course, private companies will also be responsible for financial flows, such as when there are investments in factories in different countries.
Sometimes, these financial flows are essentially short-term, taking advantage, for example, of differences in interest rates between countries. This has given rise to the idea of ‘hot money’ moving between countries to take advantage of interest rate changes. 
Sometimes, these flows will be essentially long-term, such as expenditure on the development of infrastructure in a country, which can involve a number of companies from a variety of different countries.
All of these international financial flows will have an effect on a country’s balance of payments. Inflows into a country will contribute towards a surplus and outflows will contribute towards a deficit.
Nature and impact of multinational firms; foreign direct investment (FDI) 
4
A multinational firm is one which operates in more than one country. This has to actually involve some form of economic activity in another country and so, therefore, means more than just selling in different countries.
Car companies, for example, often have factories in different countries. The US car manufacturer, General Motors, has factories not just in the USA, but in a number of other countries, including the UK, Spain, Germany and Australia. The names of the cars may be different, depending on where they are produced. For example, General Motors cars are known as Chevrolet in the USA, Vauxhall in the UK and Opel in Germany.
A multinational firm that builds a factory in another country is involved in what is termed ‘foreign direct investment’.
5
Foreign direct investment (FDI) refers to a situation where a multinational firm decides to invest in another country, such as by building a factory there. The investment involves the production of a plant which will lead to an increase in a country’s output, i.e. the construction of the factory will lead directly to an increase in the productive potential or capacity of an economy. This is in contrast to an investment that is in the form of financial assets, such as shares or bonds.
Foreign direct investment, therefore, can have a direct effect on the potential of an economy to increase its output, contributing to economic growth and the pushing outwards of a country’s production possibility curve or frontier. The building of factories in the UK by Japanese car manufacturers, such as Honda, Nissan and Toyota, is an example of foreign direct investment.
Exam-style question
6
Student answer:


Multinational firms can have a significant impact on an economy, both positive and negative.
It would have been useful if this introduction had included a definition of a multinational firm.

On the positive side, they can be a significant source of employment, reducing a country’s unemployment rate. This will increase incomes in an economy, contributing to a positive multiplier effect. The government will receive receipts from taxation, both from the taxes on the profits of the company and from the taxes paid by the employees, which include direct taxes (such as income tax) and indirect taxes (such as VAT). The workers employed by the multinational firm will learn new skills, making them more productive and, in the long run, more occupationally mobile.
The reference to a positive multiplier effect is useful, but the student does not explain what this means. The student might also have questioned the extent to which a great deal of employment would be created, because if the firm mainly used capital-intensive methods of production, not many workers may have been needed.

On the negative side, however, many of the top management of the firm will come from the original country and there may not be any opportunities in senior positions for local people. The jobs that the factory workers have may be relatively low skilled, and so are sometimes called ‘screwdriver jobs’. Sometimes, a government may have offered favourable tax concessions to attract a multinational firm to locate in a country and so it may be the case that little of the profit is taxed. Much of what is not taxed will be repatriated back to the original country. The multinational firm may not be inclined to stay for a large number of years, possibly deciding to close a factory and relocate to another country.
The response could also have considered the degree to which a multinational firm will agree to pay wages that are equal to the country’s national minimum wage, if it has one.

There are, therefore, both positive and external impacts of a multinational firm locating in a country.
The conclusion could have been developed more fully by referring to a few of the main arguments on both sides, before coming to a judgement as to whether the overall impact was likely to be positive or negative.
The role and impact of international financial institutions
7
(i)
The World Trade Organization, set up in 1995, aims to promote free trade between as many countries in the world as possible. It is opposed to trade barriers and aims to reduce as many of these as possible. It encourages discussions among member countries and these discussions are usually given a name. The most recent discussions have been known as the Doha Round.
(ii)
The International Monetary Fund, set up in 1947, has as its aim the supervision and coordination of the international monetary system. Its aim is to ensure that there is stability in the international system and it can support this aim by providing financial support to countries that are experiencing economic difficulties. This support is sometimes linked with a requirement that a country carries out certain policies.
(iii)
The World Bank, or the International Bank for Reconstruction and Development, as it is officially known, was also set up in 1947. It can provide financial support to countries that are facing economic difficulties, but like the IMF, it can attach conditions to this financial support.
8
Some countries fear losing a degree of economic independence, in terms of freedom of policy choices. For example, countries can be required to privatise certain industries, to give the private sector greater importance in the economy, despite the fact that the government would prefer the industry to remain in the public sector.

There can also be a requirement to reduce a budget deficit through the introduction of austerity measures. This would not be a popular measure if it led to an increase in the unemployment rate in the country.
International trade negotiations and trade disputes
9
The main current trade negotiations are taking place within the World Trade Organization. These are known as the Doha Round, and these have been going on since 2001. The main issues surrounding the trade negotiations relate to developing economies. A lot of progress has been made on the encouragement of free trade in manufactured goods, but the difficulties have tended to focus on the protectionism of the agricultural sector in many countries. For example, in a number of largely agrarian economies, there are extensive subsidies to agricultural producers. There has been a certain degree of stalemate and some countries have decided to bypass the World Trade Organization and establish bilateral trade agreements with one country at a time.
A key objective of the Doha Round is to improve the trading prospects of the developing economies in particular. It has been felt that the key initiatives in the past mainly concerned the more developed economies, but there is now a genuine attempt to work hard to reduce protectionism in the developing economies, especially in relation to agricultural production.
In conclusion, the problem is that in most of these economies, the primary sector is by far the most significant sector and many of the workers employed in the sector are relatively occupationally and geographically immobile. Although the theory of comparative advantage would stress the advantages of free trade, some of the developing economies are reluctant to give up protectionism.
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